GOVERNMENTOFWESTBENGAL OFFICE OF THE DEPUTY COMMISSIONER OF POLICE SOUTHWEST DIVISION (BEHALA) 255/257.D.P.S.ROAD,KOLKATA-33.

NOTICE INVITING QUOTATION

Memo No. SWDI- 1698

Dated-21.10.2024

Selected quotation in printed forms are invited for the following works from eligible firms as per particulars given below:

1. Address of site of work &Nature of Work

Essential renovation of civil & plumbing works for Barrack at
Parnashree PS, Upen Banerjee Road, Block-14, Parnashree
Pally, Kolkata.

Details of Works

Details in Estimate. (Annexure-1)

- 2. Eligibility of Contractor
- : All bonafide contractors/firms having experience in similar work.
- 3. Willing firms have to deposit valid Trade license, P.Tax, PAN, GST Certificate & ITR along with Credential.
- 4. Last date of submission of the quotation: At 15.00 hrs. on 28.10.2024
- Quotation duly sealed should be deposited at the drop box physically which is kept in front of DRO, SWD (Behala)
 on or before 28.10.2024 by 15.00 hrs. and the same to be opened in presence of the Tender committee & willing
 quotationer.
- 6. The quotation will be opened on 29.10.2024 at 12.00 hrs. at DC,SWD Office, 255/257, D.P.S. Road, Kolkata-33.
- 7. Time allowed for completion of work : 15(fifteen) days after the issuance of work order.
- 8. The intending firms should inspect the site before submitting the quotation on any working day during office hours for details of the work. They may contact with Building Maintenance Officer SWD before visiting the site.
- 9. Sealed quotation addressed to Deputy Commissioner of Police, South West Division (Behala), Kolkata, 255/257, D.P.S. Road, Kolkata-700033 and should be dropped in the box kept in front of DC, SWD Office or sealed quotation may be sent by Registered Post/Speed Post super scribing the envelope as "Quotation in response to Memo No. SWDI-1.6.9.8... Dt-21.10.2024 so as to reach on or before the last date mentioned above.
- 10. Work will be started by 03(three) days after issuance of work order.
- 11. The work should be done as per specification attached in Annexure-I with the total satisfaction of the authority.
- 12. The Authority reserves the right to reject any Quotation without assigning any reason in this regard.
- 13. For any other information contact with ASI Pijush Kanti Dev (Mobile No. 9123922700) of SWD.

Deputy Commissioner of Police
South West Division (Behala)
Deputy Commissioner of Folice
South West Division (Behala), Kolkata

ESTIMATE

Type of Works:-Essential renovation of civil & plumbing works for Barrack at Parnashree Police Station, Upen Banerjee Road, Block-14, Parnashree Pally, Kolkata-700060

SL No.	Item Code	Description of item	Qty	Unit	Rate	Amount
1	Page-40 Item-27	Cement concrete (1:1.5:3) with graded stone chips 5.6 mm size with hexagonal square mesh wire netting, I.R.C. fabric mesh or X.P. M. fitted and fixed after tying the existing reinforcement on concrete without distributing the same and with proper scarping and cleaning the reinforcement and disturbed concrete with wire brush etc. after applying a coat of cement including the cost of wire netting I.R.C or X. P. M. & cost of all handling and scaffolding complete as per direction of Engineer-in-charge. a) 20 mm thick	2.91	sqmtr	491,00	1428.81
2	Page-189 Item-I	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including round off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] iii) with 1:6 cement mortar. (b) 15mm thk plaster	.36.50	sqmtr	155.00	5657.50
3	Page-204 Item-5	(b) Rendering the surface of walls and ceiling with white cement based wall putty of approved make and brand(1.5mm thick)	89.56	sqmtr	110.00	9851.16
4	Page-11 Item-10	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	78.36	sqmtr	19.00	1488.87
5	Page-200 Item-1	Priming one coat on timber or plastered surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	223.89	sqmtr	38.00	8507.82
6	Page-196 Item-10	Acrylic Distemper to interior wall, ceiling with a coat of solvent based interior grade acrylic primer (as per manufacturer's specification) including cleaning and smoothning of surface. Two Coats	140.98	sqmtr	70.00	9868,60
7	Page-200 Item-2	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface. if necessary :(a) On timber or plastered surface :(iv) Two coats (with any shade except white)	131.39	sqmtr	81.00	10642.59
8	Page- 36 Item-3 (S & P)	Supplying, fitting and fixing 10 litre P.V.C. low-down cistern conforming to I.S. specification with P.V.C. fittings complete, C.I. brackets including two coats of painting to bracket etc.	1.00	each	1015.00	1015.00
9	Page- 79 Item-3 (S & P)	Supplying, fitting and fixing Anglo-Indian W.C. in white glazed vitreous china ware of approved make complete in position with necessary bolts, nuts etc.(a) With 'P' trap (with vent)	1.00	each	3104.00	3104.00
10	Page- 81 hem-10 (S & P)	Supplying, fitting and fixing Closet seat of approved make with lid and C.P. hinges, rubber buffer and brass screws complete. (b) Anglo Indian (ii) Plastic (hallow type) white	1.00	each	485.00	485.00

11	Page-12 Item-19(I) (S & P)	Supplying, fitting and fixing PVC pipes of approved make of Schedule 80 (medium duty) conforming to ASTMD - 1785 and threaded to match with GI Pipes as per IS: 1239 (Part - 1), with all necessary accessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, making threads fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. Payment for painting will be made seperately). (a) For Exposed Work - PVC Pipes (Dia) 20mm	8.00	mtr	129.00	1032.00	
12	Page- 43 Item-10 (S & P)	Supplying fitting and fixing approved brand 32 mm dia.P.V.C. waste pipe, with PVC coupling at one end fitted with necessary clamps.	1.00	each	75.00	75,00	
13	Page-41 Item-2	Supplying, fitting and fixing white vitreous china best quality approved make wash basin with C.I. brackets on 75 mm X 75 mm wooden blocks, C.P. waste fittings of 32 mm dia., one approved quality brass C.P. pillar cock of 15 mm dia., C.P. chain with rubber plug of 30 mm dia., approved quality P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved quality P.V.C. connection pipe with heavy brass C.P. nut including mending good all damages and painting the brackets with two coats of approved paint. (i) 450 mm X 300 mm size	1.00	each	1979,00	1979.60	
14	Page- 6 Item-7 (S & P)	Supplying, fitting and fixing (a) (ii) Chromium plated Bib Cock long body with wall flange with acrator (Equivalent to Code No. 512 & Model - Tropical / Sumthing Special of ESSCO or similar brand)	1.00	each	659.00	659.00	
15	Page- 3 Item-3 (S & P)	Supplying, fitting and fixing (g) PTMT overhead shower (Prayag or equivalent)(ii) 150 mm round	1.00	each	34 0 .00	340.00	
16	Page- 113. Section (C) III: Labour Rate for (S & P)	SI.1 Plumbing Mistry Wt Many	4.00	each	326.00	1304,00	
. 17	Page-113. Section (C) III: Labour Rate for (S & P)	Sl. 5 Plumbing Helper	3.00	each	270.00	810.00	-
18	Page-152 Item-31	Taking out shutter of door and window, dismantling by parts (for repair or replacement of damaged parts), reassembling and refitting and rehanging same with old fittings but with new screws as necessary. (Where different parts of same shutter are renewed under	2.52	sqmtr	126.00	317.52	
19	Page-131 Item-22	35 mm thick factory made Solid panel PVC Door shutter made out of single piece extruded solid PVC profiles, 5 mm (± 0.2mm) thick, having styles & rails (except lock rail) of size 95 mm x 35mm x 5 mm, out of which 75 mm shall be flat and 20mm shall be tapered (on both side), having one side thickness of 15 mm integrally extruded on the hinge side of the profile for better screw holding power, including reinforcing with MS tube of size 40 mm X 20 mm x 1 mm, joints of styles & rails to be mitred cut & joint with the help of PVC solvent cement, self driven self tapping screws & M.S. rectangular pipes bracket of size 190 mm X 100 mm of cross section size 35 mm x 17 mm x 1 mm at each corner. Single piece extruded 5mm thick solid PVC Lock rail of size 115 mm x 35 mm x 35 mm, out of which 95 mm to be flat	1.85	sqmtr	2563,00	4728,74	

			and 20 mm to be tapered at both ends, having 15 mm solid core in middle of rail section integrally extruded, fixing the styles & rails with the help of solvent and self driven self tapping screws of 125 mm x 8 mm, including providing 5 mm Single piece solid PVC extruded sheet inserted in the door as panel, all complete as per manufacturer's specification and direction of Engineer-in-charge. a) Factory made Single piece non decorative extruded PVC tapered profiles door shutter(mat / plain finish)				
	20	Page-126 Item-16	PVC tapered profiles door shutter(mat / plain finish) Supplying, Fitting & Fixing 30 mm thick both side prelaminated Factory made solid Panel PVC Door Shutter consisting of outer frame made out of M.S. tubes of 19 gauge thickness and size 19 mmx19 mm for styles, top and bottom rails, M.S. frame shall have cost of steel primers of approved make and manufacture, M.S. frame covered with 5 mm th. heat moulded PVC "C" channel of size 30 mm th, 70 mm width out of which 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on either sides forming styles; and 5 mm th. 95 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm tapered in 45 degree on the inner side to form top & bottom rail and 115 mm wide PVC sheet out of which 75mm shall be tlat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided either side of the panel with 10 mm (5 mmx2) th.,20 mm wide cross PVC sheet as gap insert for top rail and bottom rail sheet to be fitted in the M.S. frame welded/sealed to the styles &rails with 7 mm (5 mm+2 mm) th.x15 mm wide PVC sheet beading on inner side and joined together with solvent cement adhesive. An additional 5 mm th. PVC strip of 20 mm which is to be stuck on the interior side of the "C" channel using PVC solvent adhesive etc. complete excluding all necessary hardwares as per direction of Engineer-in-Charge. In ground floor.	5.100	mtr	516.00	2631.60
	21	Page-233 item-1	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to 1S: 732-1983 and 1S: 1285-1975; Annodized (with required film thickness and specified colour / natural) matt finished conforming to 1S: 1868-1983 for fabrication of composit door, sliding & casement windows, partitions, formed of basic sections of any 1SI embossed / certified make and brand as per direction of Engineer - In- Charge. (Payment will be made on finished length of the work).(A) In 10-12 Micron thickness Annodizing film				
			(1) Natural white				
	3		i) Fixed partitions. (Unsupported length of vertical member upto 1.5 mtr. Height of both ends of vertical member restrained but panels within 0.9 sq.m.)				
L			i) Top . bottom & side member.	10.70	mtr	339.00	3627.30
-			ii) Intermediate member.	13.20	mtr	363.00	4791.60
	22	Page-177 Item-13	Supplying, fitting & fixing 9 mm thick Heavy Duty Cement Board- Type A (High pressure steam cured, tested as per AS-1530 part 3 & BS 476 Part 4.5,6.7 & 8 density>1450kg/m3. Bond strength 15N/sqnm fire resistant, termite proof, moisture resistant) reinforced with cellulose fibre manufactured through autoclaving process as per IS: 14862 & ISO 8336, with fibre cement screws in partition excluding cost of supporting structure as per drawing & direction of -Engineer-in-charge complete. (Note: The item-26 Under Section-U (Page-247) can be used as supporting structure for internal partition).	4.73	sqmtr	6341.00	2998.82
	23	Page-244 Item-14	Filling the gap in between aluminium frame & adjacent RCC / Brick/Stone work by providing	13.90	mtr	69.00	959.10

		weather silicon sealant over 6mm dia backer rod of approved quality as per architectural drawings and direction of Engineer-in-Charge complete. Upto 5 mm depth and 5 mm width (a) Ground Floor				
24	Page-243 Item-9	Supplying bubble free float glass of approved make and brand conforming to 1S: 2835-1987. xii) 12mm thick coloured / tinted / smoke glass.	1.67	sqmtr	1854.00	3102.26
24	Page- 113. Section (C) III: Labour Rate for (S & P)	Mazdoor	5.00	each	269.50	1347.50
		= 80,638.78		T:	xable Value	82752.78
		= 7,257.49		Add 9	% for CGST	7447 75
		= 7,257.49		Add 9	% for SGST	7447.75
		= 95,153.76		To	tal with Tax	97648.29
	Partegra	951.54		Add 1	% LW Cess	9 6.48
		= 96,105.30			Final Total	98624.77
- 1		R/O(-) = 0.30			R/O (+)	0.23
		= 96,105.00			SAY	9862 300
_		T 1	-			1

Rupees Ninety six Thousand one Hundred and Five only

Rupees in words: Ninty Eight Thousand Six Hundred Twenty Five And Zero Puise Only

Junior Engineer-I Kolkata Police Directorate Govt. of West Bengal

Fechnically Checked & Vertico

Kolkata Police Directorate Govt. of West Bengal